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000w (cm/s)

0000 f (Hz)
0000000000 E (kg/cm?)
0000 (kg/cm?)

00O0L (cm)

00086 (rad)

000 (cm)

0000w (rad/s)

00O0p (g/cm?)
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gooono A/4DDDDDDDDDDDDDDDDDDDD[ll:Jl:l
ooooo o
s
2G
oooooo Mo
M=
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udx=1000000

gooooood zyd
IN = =
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U = Ug COS (?w)

?sin (%x)

oobood o0

g = —Up
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030 0000000000

00000000000 GeDOODOODO

0000 E = 2100000 = 2.1 x 10° (kg/cm?)
00 p=17.86 (g/cm?®)
ooooo 1 kg/cm2 = 1000 x 980 = 9.8 x 10° (dyn/cm?)
Qooo o \/21><106><98><105

- 7.86

V/2.618 x 1011
=5.12 x 10° cm/s
= 5120 m/s

0o0000ooooooo G =20 kHz = 2 x 10* Hz
0oo000o0o0ooooo up = 10p = 0.001 cm

oooobooooooooon
(00o0DoDOoOoooooooool)

A v 5120
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(0D0DOooOO M)
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(DDDDDDDDDDD J,‘N)
l 12.8
IN_—:7—64CH1
2
(0000 w)
u—uocos( )—10_3c0s(128x)
(0000 o)
E7rs, (77) 10732.1><106><7r , (ﬂ' )
= —up——sin |-z ) = — S11L
0=t [ 12.8 12.8"
= —515.425sin(0.24544x)
aoood

0000000 20kHz20000000000000000000000 320000
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M=1.0

12.8

(em)

032 0O00O0O0O00O0O0O0OCOOOOOO0O0

033 000000000000 00000000O0

gogboob ooboboobo

write(6,100)
100 format(’x DO 0OUOOO0OO0OOO0OOOOOO **x2)
write(6,*) (> 00O V(em/s) O )
read(5,*)v
write(6,*) (> 0000 (Hz) O?)

read(5,*)f
c

cl1=0.5%v/f

cm=1.0

cn=0.5%cl
c

write(6,500)
500 format(//,’**x OO OO *xx’,/)
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write(6,510)cl

510 format(’ 0O O L(cm) O°,f6.2)
write(6,520)cm

520 format(’ JOOOO MO ?,£6.2)
write(6,530)cn

530 fogmat(’ gooO0oO0 N(em) O,£6.2)
en

00 V(em/s) O 512000.0
0000 (Hz) O 20000.0
gogd
00000 L(em) O 12.80
gooooooMO 1.0
0000O000O N(em) O 6.40
goodg oogd
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034 0000000000 OOOOOOOO0O0

oooo ooooo

cl = 0.5%_v/_f
cm = 1
xn = 0.5%_cl



